 OEPEE

3 2038k
2043k 81




. Bl D LLE . f55H
. HIA/B2EE e TR

EESA(ERE) | e

« BENA(BME)

mn O






S o
T BEEs 4
1.81892 48
DB/ BB
3. 109

4.— BN
27 =



P

gy B IR A A EY (R 5"?5_#@? FEHIED) o

ewz 1o
I:%)/Z@ =) Zﬁi fq
=HIR — - “AEEREVTEL (CAPE/NEL TEER/]N @ —

RS (ANEIEAVER /N ) = =




([ 7F _

s [ W0 ORENBNEE (LR 10 SRR
[a, b] a<Sr S0 a

(a. b) A=t = EX1log2 =0.3010 > log3 =0.4771 > log7 =0.8451
[a, b) DS —_é 0 0 7979757
(a, b] a<x<b '_’é L= [(] (

[a, o) 20 q 2 rri 7 ___{

e 25 &5 | 0477 ] 8 = {Um
(—00, b] x<b _— 2 __- _('9 —_— 0,95%2

= o o 9 ==(f0

(—00, b) x<b 4. [ 0

(~, o)

FRIEE# R

ﬁ k&P H (oo fe-*@ TR RTEBEE R 1

W~ BN 4




HIAIBERES







=D By | =@ \

® gMhEH= | oK

e JLIRZBENRE

¢ U@i%lﬂﬂ% e ( db =4 N+
(—EEETIE) R (25T5)

e NZZIN\BE FHIEE

o B[EE M EZ60




@%@%@@

NT

Cl
| O
=
N (D

oull
-
H

Il
[

L
&
Ll
e

>~ W=
ol
_H.I:
N
+dJ

5] 1F

f
(U
H F
(5
i

Bl

(R

DIII I



‘N>T/\3
Ralea e

e JHRZBEIRR
c MEPHE(LBHEHH—F)
c HEBTSRE B LY

. EEREER g;
<o



C
I,

% BE®E B PR
(J ® ZEAZEM

SEAEERLD  SRAEREAET
STBETHRVEY  ZEZERR-
«HEBE K 0 SHHENRBBER °
M SEERE  ERHISABHRE

188 ¢ «FTEZBEAES AR - — -

UM EERBEX

TR SR ARAY 2 455

%%ﬁiﬁ & % hE4R 0800-0164

BIEN | nnsEnEREEEE QR










—

-

A A A B A

) FEh - A4S - §4085 4, B, C, D, E, F S/ EFRE - SRR B 7!

2. (
p Q \O B, n,n,r 0 AITFSIRIEAR?

F

(A)n =

B, E]c;) Y %%

Xou 2K =
v el
Ja- 2

:T'Xfasz.yz,-—-lfm&l o e o e

FL ]|
m"ls 2 J_E,Tﬁbé, bk e
Zi| o
Ml 55 ;(B)"z ’EM(C)?’; =r, D)r, ﬁ\d pAN Ull" 3v3

|

,EID | . =D
—c IF 1E L
i a2z

Bz &
( _/jZTIE@_g_B/J 50 )

|5 85. 541

L RARRR BRI B FR kB B0 B
CERAEER L R e EI N

m=ESEAS

D

D\ %’19 %Kl B3
» ﬁm%ﬁ-ﬂ%)zm +0Ax Y X8 ._;9__,10(-'2/)#(0 , 9\‘)7{3("*’)”
p wC(-*Z) =22 -§n2b-§ =19
» poat2b=-50
: (2) =22t fnt2h- — 8

» 7946 xby L

b o b
?7?,_§.L Q



@@@@

l A — ;FE (=il= IF/_E\

> \ =
¢ NIVAAR
gD« RRBEMNE
AN it 2 B VI AT
4 s TS EE BERE

: T 2 R §A§3:
U



@l x+y+2)° =" +y* +2°+ 22y + 2yz + 22x ©

2. M RFEELTC

uy .
S 1 EATEAR %
J;{ (l)ilzﬁ%ﬂ‘ﬁ3x2—y2=(a¢+y)(x-—y)o
(2) MIBER AR : (Xx+y)’ =2+ 22y + 4y o !‘
(1) IAMA 2’ +y’ = (@ +y)(@’ -2y +y°) o
( 2) MFEAR -y’ =(x-y)( @’ +2y+y°) °

(3) ZRFHAK | (x-y)? =2’ -2y +y>°
3) IS AR & (@ +y) =2+ 32240+ 3042+ <
% C( 4) ZHLIAR [ (-y)’= x36)3x2y +3xy’ Ll N




- >V
T
Suaikly
e BB XKEBD
¢ STLRERHY

 MRNERTFTR

o B




T npEs

1 %ﬁ@ 9)\o._<_x<v2ﬁo%?y;%fayfzsiitx—%f)é@ fi%ﬁ%”ﬁ?fb%%é@ﬁ#—_

2 J—_Eﬁﬁ / iED |

3 EE@%& / ﬂgy / /_J\gy 0< x<27})

38K/ BUVE e hnloh
=

4.33\ / BRI\

7)) ==\




A
"

B35

@\ﬁ@@

¢ &

Il\—

7D

BIKR
= HQ}“A

3 it e

<z RR

M &

= __:\

s

ﬂ%m@j

2 E SBHE

=




A

& =B

o NO)RBAU#E 22 e O BHZHINFE
o X—1EEF R e FRBHRE

e

iR =SS0

. BPIRN /O3 -

o JIRECIR

= 0B M
D)




WIESESIE R (I
R=hSELIBHEE §

—BEFEBIRI/REV/J\EhiE > EIRIE
T2 ~ HXiE -~ HF 72 BRNFeee
REREEEIPEHIR > I
=] ’EHDTEE—@?: » 7 28 OJ
Befo 37 uﬁ‘@%ﬁﬂ ' '







. Thank You!




